# Some applications of oscillation criteria for fractional differential and difference equations 

Chengyuan $\mathrm{Yu}^{a}$, Qinghua Feng ${ }^{a, *}$<br>${ }^{a}$ Shandong University of Technology<br>School of Mathematics and Statistics<br>Zhangzhou Road 12, Zibo, 255049, China<br>*fengqinghua1978@126.com


#### Abstract

In this paper, we present some applications of oscillation criteria for fractional differential and difference equations. The presented examples consist of both continuous and discrete analysis as special cases.


Key-Words: oscillation; fractional differential equations; fractional difference equations
MSC 2010: 34N05, 34C10, 26E70

## 1 Introduction

Oscillation belongs to the range of qualitative properties analysis. In the last few decades, research for oscillation of various equations including differential equations, difference equations has been a hot topic in the literature, and much effort has been done to establish new oscillatory criteria for these equations so far (for example, see [1-12], and the references therein).

In this paper, we present some applications for oscillation of some fractional differential and difference equations with damping term, where the fractional derivative is defined as the conformable fractional derivative [13]. These fractional differential and difference equations are special cases of the following conformable fractional dynamic equation with damping term on time scales:

$$
\begin{equation*}
\left(a(t)\left[r(t) x^{(\alpha)}(t)\right]^{(\alpha)}\right)^{(\alpha)}+p(t)\left[r(t) x^{(\alpha)}(t)\right]{ }^{(\alpha)}+q(t) x(t)=0, t \in \mathbb{T}_{0}, \tag{1.1}
\end{equation*}
$$

where $\alpha \in(0,1], \mathbb{T}$ is an arbitrary time scale, $\mathbb{T}_{0}=\left[t_{0}, \infty\right) \bigcap \mathbb{T}, t_{0}>0, a, r, p, q \in C_{r d}\left(\mathbb{T}_{0}, \mathbb{R}_{+}\right)$. For the sake of convenience, denote $\delta_{1}\left(t, t_{i}\right)=\int_{t_{i}}^{t} \frac{e_{-\frac{\tilde{p}}{a}}^{a}\left(s, t_{0}\right)}{a(s)} \Delta^{\alpha} s$, where $\widetilde{p}(t)=t^{\alpha-1} p(t)$.

## 2 Applications

Based on the obtained results in [14, 15], we will present some applications for the established results above.

### 2.1 Fractional differential equation

First we consider the following fractional differential equation with damping term:

$$
\begin{equation*}
\left\{\sqrt{t}\left[t^{-\frac{1}{2}} x^{\left(\frac{1}{2}\right)}(t)\right]^{\left(\frac{1}{2}\right)}\right\}^{\left(\frac{1}{2}\right)}+t^{-\frac{5}{2}}\left[t^{-\frac{1}{2}} x^{\left(\frac{1}{2}\right)}(t)\right]^{\left(\frac{1}{2}\right)}+t^{-\frac{3}{2}} x(t)=0, t \in[2, \infty) . \tag{2.1}
\end{equation*}
$$

Related to (1.1), one has $\mathbb{T}=\mathbb{R}, \alpha=\frac{1}{2}, a(t)=\sqrt{t}, p(t)=t^{-\frac{5}{2}}, q(t)=t^{-\frac{3}{2}}, \widetilde{p}(t)=t^{-\frac{1}{2}} p(t)=$ $t^{-3}, r(t)=t^{-\frac{1}{2}}, t_{0}=2$. So $\mu(t)=\sigma(t)-t=0$, which means $-\frac{\widetilde{p}}{a} \in \mathfrak{R}_{+}$. Then $e_{-\tilde{\tilde{p}}}^{a}\left(t, t_{0}\right)=e_{-\frac{\tilde{p}}{a}}(t, 2)=$ $\exp \left(-\int_{2}^{t} \frac{\widetilde{p}(s)}{a(s)} d s\right)$. Moreover,

$$
1>\exp \left(-\int_{2}^{t} \frac{\widetilde{p}(s)}{a(s)} d s\right) \geq 1-\int_{2}^{t} \frac{\widetilde{p}(s)}{a(s)} d s=1-\int_{2}^{t} s^{-\frac{7}{2}} d s=1+\frac{2}{5}\left[t^{-\frac{5}{2}}-2^{-\frac{5}{2}}\right]>\frac{3}{5}
$$

So one can deduce that

$$
\begin{aligned}
& \int_{t_{0}}^{\infty} \frac{e_{-\frac{\widetilde{\sim}}{a}}\left(s, t_{0}\right)}{a(s)} \Delta^{\alpha} s=\int_{t_{0}}^{\infty} \frac{e_{-\frac{\tilde{\mathfrak{p}}}{a}}^{a}\left(s, t_{0}\right)}{a(s)} s^{\alpha-1} \Delta s=\int_{t_{0}}^{\infty} \frac{e_{-\frac{\widetilde{p}}{a}}^{a}\left(s, t_{0}\right)}{a(s)} s^{\alpha-1} d s \\
& >\frac{3}{5} \int_{2}^{\infty} \frac{1}{\sqrt{s}} s^{\alpha-1} d s=\frac{3}{5} \int_{2}^{\infty} \frac{1}{s} d s=\infty
\end{aligned}
$$

and

$$
\int_{t_{0}}^{\infty} \frac{1}{r(s)} \Delta^{\alpha} s=\int_{t_{0}}^{\infty} \frac{1}{r(s)} s^{-\frac{1}{2}} d s=\int_{t_{0}}^{\infty} 1 d s=\infty
$$

Furthermore, one has

$$
\begin{aligned}
& \int_{t_{0}}^{\infty}\left[\frac{1}{r(\xi)} \int_{\xi}^{\infty}\left(\frac{e_{-\frac{\widetilde{\rightharpoonup}}{a}}\left(\tau, t_{0}\right)}{a(\tau)} \int_{\tau}^{\infty} \frac{q(s)}{e_{-\frac{\tilde{p}}{a}}\left(\sigma(s), t_{0}\right)} \Delta^{\alpha} s\right) \Delta^{\alpha} \tau\right] \Delta^{\alpha} \xi \\
& =\int_{t_{0}}^{\infty} \xi^{\alpha-1}\left[\frac{1}{r(\xi)} \int_{\xi}^{\infty} \tau^{\alpha-1}\left(\frac{e_{-\frac{\tilde{p}}{a}}^{a\left(\tau, t_{0}\right)}}{a(\tau)} \int_{\tau}^{\infty} \frac{q(s) s^{\alpha-1}}{e_{-\frac{\widetilde{p}}{a}}\left(\sigma(s), t_{0}\right)} \Delta s\right) \Delta \tau\right] \Delta \xi \\
& =\int_{t_{0}}^{\infty} \xi^{\alpha-1}\left[\frac{1}{r(\xi)} \int_{\xi}^{\infty} \tau^{\alpha-1}\left(\frac{e_{-\frac{\tilde{p}}{a}}^{a\left(\tau, t_{0}\right)}}{a(\tau)} \int_{\tau}^{\infty} \frac{q(s) s^{\alpha-1}}{e_{-\frac{\tilde{p}}{a}}^{\alpha\left(\sigma(s), t_{0}\right)}} d s\right) d \tau\right] d \xi \\
& =\int_{2}^{\infty}\left[\int_{\xi}^{\infty} \tau^{-\frac{1}{2}}\left(\frac{e_{-\frac{\tilde{p}}{a}}(\tau, 2)}{\sqrt{\tau}} \int_{\tau}^{\infty} \frac{1}{s^{2} e_{-\frac{\widetilde{p}}{a}}^{a}(s, 2)} d s\right) d \tau\right] d \xi \\
& >\frac{3}{5} \int_{2}^{\infty}\left[\int_{\xi}^{\infty}\left(\frac{1}{\tau} \int_{\tau}^{\infty} \frac{1}{s^{2}} d s\right) d \tau\right] d \xi=\frac{3}{5} \int_{2}^{\infty}\left[\int_{\xi}^{\infty} \frac{1}{\tau^{2}} d \tau\right] d \xi=\frac{3}{5} \int_{2}^{\infty} \frac{1}{\xi} d \xi=\infty
\end{aligned}
$$

On the other hand, for a sufficiently large $t_{2}$, we have

$$
\begin{aligned}
& \delta_{1}\left(t, t_{2}\right)=\int_{t_{2}}^{t} \frac{e_{-\frac{\tilde{\rightharpoonup}}{a}}^{a}\left(s, t_{0}\right)}{a(s)} \Delta^{\alpha} s=\int_{t_{2}}^{t} \frac{e_{-\frac{\widetilde{\rightharpoonup}}{a}}\left(s, t_{0}\right)}{a(s)} s^{\alpha-1} \Delta s \\
& =\int_{t_{2}}^{t} \frac{e_{-\frac{\widetilde{p}}{}}^{a}\left(s, t_{0}\right)}{a(s)} s^{\alpha-1} d s>\frac{3}{5} \int_{t_{2}}^{t} \frac{1}{s} d s \rightarrow \infty(t \rightarrow \infty)
\end{aligned}
$$

So there exists a sufficiently large $t_{3}>t_{2}$ such that $\delta_{1}\left(t, t_{2}\right)>1$ for $t \in\left[t_{3}, \infty\right)$.
Setting $\phi(t)=t, \varphi(t)=0$ in $[14,(2.9)]$, one can obtain that

$$
\int_{t_{3}}^{t}\left[q(s) \frac{\phi(s)}{e_{-\frac{\tilde{p}}{a}}\left(\sigma(s), t_{0}\right)}-\frac{s^{2-2 \alpha}\left(\phi^{\prime}(s)\right)^{2} r(s)}{4 \phi(s) \delta_{1}\left(s, t_{2}\right)}\right] s^{\alpha-1} d s>\int_{t_{3}}^{t}\left(\frac{1}{s}-\frac{1}{4 s}\right) d s=\int_{t_{3}}^{t} \frac{3}{4 s} d s \rightarrow \infty(t \rightarrow \infty)
$$

From the analysis above one can see [14, (2.6)-(2.9)] all hold. So it follows from [14, Corollary 2.2] that every solution of Eq. (2.1) is oscillatory or tends to zero.

### 2.2 Fractional difference equation

Next we consider the following fractional difference equation:

$$
\begin{equation*}
\Delta^{\left(\frac{1}{2}\right)}\left\{\sqrt{t} \Delta^{\left(\frac{1}{2}\right)}\left[t^{-\frac{1}{2}} \Delta^{\left(\frac{1}{2}\right)} x(t)\right]\right\}+t^{-\frac{5}{2}} \Delta^{\left(\frac{1}{2}\right)}\left[t^{-\frac{1}{2}} \Delta^{\left(\frac{1}{2}\right)} x(t)\right]+t^{-\frac{3}{2}} x(t)=0, t \in[2, \infty)_{\mathbb{Z}} \tag{2.2}
\end{equation*}
$$

where $\Delta^{\left(\frac{1}{2}\right)}$ denotes the fractional difference operator of order $\frac{1}{2}$.
Related to (1.1), one has $\mathbb{T}=\mathbb{Z}, \alpha=\frac{1}{2}, a(t)=\sqrt{t}, p(t)=t^{-\frac{5}{2}}, q(t)=t^{-\frac{3}{2}}, \widetilde{p}(t)=t^{-\frac{1}{2}} p(t)=$ $t^{-3}, r(t)=t^{-\frac{1}{2}}, t_{0}=2$. Then $\mu(t)=\sigma(t)-t=1$, and

$$
1-\mu(t) \frac{\widetilde{p}(t)}{a(t)}=1-t^{-\frac{7}{2}} \geq 1-t^{-3} \geq 1-\frac{1}{2^{3}}>0
$$

which means $-\frac{\widetilde{p}}{a} \in \mathfrak{R}_{+}$. So according to [16, Lemma 2] one can obtain that

$$
\begin{aligned}
& e_{-\frac{\tilde{p}}{a}}\left(t, t_{0}\right)=e_{-\frac{\tilde{p}}{a}}(t, 2) \geq 1-\int_{2}^{t} \frac{\widetilde{p}(s)}{a(s)} \Delta s=1-\int_{2}^{t} s^{-\frac{7}{2}} \Delta s=1-\sum_{s=2}^{t-1} s^{-\frac{7}{2}} \\
& \geq 1-\int_{1}^{t-1} s^{-\frac{7}{2}} d s=1+\frac{2}{5}\left[(t-1)^{-\frac{5}{2}}-1\right]>\frac{3}{5},
\end{aligned}
$$

and

$$
e_{-\tilde{\tilde{p}}}\left(t, t_{0}\right) \leq \exp \left(-\int_{2}^{t} \frac{\widetilde{p}(s)}{a(s)} \Delta s\right)<1 .
$$

To use [14, Corollary 2.3], one needs to verify [14, (2.10)-(2.13)]. To this end, one has

$$
\sum_{s=t_{0}}^{\infty} \frac{e_{-\frac{\tilde{p}}{a}}^{a}\left(s, t_{0}\right)}{a(s)} s^{\alpha-1}=\sum_{s=2}^{\infty} \frac{e_{-\frac{\tilde{v}}{a}}^{a}(s, 2)}{a(s)} s^{\alpha-1}=\sum_{s=2}^{\infty} \frac{e_{-\frac{\tilde{p}}{a}}^{a}(s, 2)}{s}>\frac{3}{5} \sum_{s=2}^{\infty} \frac{1}{s}=\infty,
$$

and

$$
\sum_{s=t_{0}}^{\infty} \frac{1}{r(s)} s^{\alpha-1}=\sum_{s=2}^{\infty} 1=\infty .
$$

Furthermore,

$$
\begin{aligned}
& \sum_{\xi=t_{0}}^{\infty}\left[\frac{\xi^{\alpha-1}}{r(\xi)} \sum_{\tau=\xi}^{\infty} \tau^{\alpha-1}\left(\frac{e_{-\frac{\tilde{p}}{a}}^{a}\left(\tau, t_{0}\right)}{a(\tau)} \sum_{s=\tau}^{\infty} \frac{q(s) s^{\alpha-1}}{e_{-\frac{\tilde{a}}{a}}^{a}\left(s+1, t_{0}\right)}\right)\right]=\sum_{\xi=t_{0}}^{\infty}\left[\frac{\xi^{\alpha-1}}{r(\xi)} \sum_{\tau=\xi}^{\infty} \tau^{\alpha-1}\left(\frac{e_{-\frac{\tilde{p}}{a}}^{a(\tau, 2)}}{a(\tau)} \sum_{s=\tau}^{\infty} \frac{q(s) s^{\alpha-1}}{e_{-\frac{\tilde{a}}{a}}(s+1,2)}\right)\right] \\
& >\frac{3}{5} \sum_{\xi=2}^{\infty}\left[\sum_{\tau=\xi}^{\infty}\left(\frac{1}{\tau} \sum_{s=\tau}^{\infty} \frac{1}{s^{2}}\right)\right]>\frac{3}{5} \sum_{\xi=2}^{\infty}\left[\sum_{\tau=\xi}^{\infty}\left(\frac{1}{\tau} \sum_{s=\tau}^{\infty} \frac{1}{s(s+1)}\right)\right]=\frac{3}{5} \sum_{\xi=2}^{\infty} \sum_{\tau=\xi}^{\infty} \frac{1}{\tau^{2}} \\
& >\frac{3}{5} \sum_{\xi=2}^{\infty} \sum_{\tau=\xi}^{\infty} \frac{1}{\tau(\tau+1)}=\frac{3}{5} \sum_{\xi=2}^{\infty} \frac{1}{\xi}=\infty .
\end{aligned}
$$

So [14, (2.10)-(2.12)] hold. Moreover, since for a sufficiently large $t_{2}$, it holds that

$$
\delta_{1}\left(t, t_{2}\right)=\sum_{s=t_{2}}^{t-1} \frac{e_{-\frac{\tilde{d}}{a}}^{a}\left(s, t_{0}\right)}{a(s)} s^{\alpha-1}>\frac{3}{5} \sum_{s=t_{2}}^{t-1} \frac{1}{s} \rightarrow \infty(t \rightarrow \infty),
$$

then there exists $t_{3}>t_{2}$ such that $\delta_{1}\left(t, t_{2}\right)>1$ for $t \in\left[t_{3}, \infty\right)_{\mathbb{Z}}$. If we let $\phi(t)=t, \varphi(t)=0$ in [14, (2.13)], then one can obtain that

$$
\sum_{s=t_{3}}^{t-1}\left[q(s) \frac{\phi(s)}{e_{-\frac{\tilde{p}}{a}}\left(s+1, t_{0}\right)}-\frac{s^{2-2 \alpha}(\phi(s+1)-\phi(s))^{2} r(s)}{4 \phi(s) \delta_{1}\left(s, t_{2}\right)}\right] s^{\alpha-1}>\sum_{s=t_{3}}^{t-1}\left(\frac{1}{s}-\frac{1}{4 s}\right)=\sum_{s=t_{3}}^{t-1} \frac{3}{4 s} \rightarrow \infty(t \rightarrow \infty) .
$$

So [14, (2.13)] also holds. After an application of [14, Corollary 2.3] one can see that every solution of Eq. (2.2) is oscillatory or tends to zero.

### 2.3 Fractional $q$ - difference equation

Finally we consider the following fractional $q$ - difference equation:

$$
\begin{equation*}
\Delta^{\left(\frac{3}{5}\right)}\left\{t^{0.6} \Delta^{\left(\frac{3}{5}\right)}\left[t^{-0.4} \Delta^{\left(\frac{3}{5}\right)} x(t)\right]\right\}+t^{-2.4} \Delta^{\left(\frac{3}{5}\right)}\left[t^{-0.4} \Delta^{\left(\frac{3}{5}\right)} x(t)\right]+t^{-1.6} x(t)=0, t \in[\beta, \infty)_{\beta^{z}} \tag{2.3}
\end{equation*}
$$

where $\Delta^{\left(\frac{3}{5}\right)}$ denotes the fractional difference operator of order $\frac{3}{5}, \beta \geq 2$.
Related to (1.1), one has $\mathbb{T}=\beta^{\mathbb{Z}}, \alpha=\frac{3}{5}, a(t)=t^{0.6}, p(t)=t^{-2.4}, q(t)=t^{-1.6}, \widetilde{p}(t)=t^{-0.4} p(t)=$
$t^{-2.8}, r(t)=t^{-0.4}, t_{0}=\beta$. Then $\mu(t)=\sigma(t)-t=t(\beta-1)$, and considering $t \geq \beta$, one has

$$
1-\mu(t) \frac{\widetilde{p}(t)}{a(t)}=1-t(\beta-1) \frac{1}{t^{3.4}}=1-(\beta-1) \frac{1}{t^{2.4}} \geq 1-(\beta-1) \frac{1}{\beta^{2}}=\frac{\beta^{2}-\beta+1}{\beta^{2}}>0
$$

which means $-\frac{\widetilde{p}}{a} \in \mathfrak{R}_{+}$. So we obtain

$$
\begin{aligned}
& e_{-\frac{\widetilde{p}}{a}}\left(t, t_{0}\right)=e_{-\frac{\widetilde{p}}{a}}(t, \beta) \geq 1-\int_{\beta}^{t} \frac{\widetilde{p}(s)}{a(s)} \Delta s=1-\int_{\beta}^{t} \frac{1}{s^{3.4}} \Delta s \geq 1-\int_{\beta}^{t} \frac{1}{s^{3}} \Delta s=1-(\beta-1) \frac{t^{-2}-\beta^{-2}}{\beta^{-2}-1} \\
& =\frac{1+(\beta-1) t^{-2}-\beta^{-1}}{1-\beta^{-2}}>\frac{1-\beta^{-1}}{1-\beta^{-2}} \geq \frac{1}{2-2 \beta^{-2}}=\frac{\beta^{2}}{2\left(\beta^{2}-1\right)}
\end{aligned}
$$

and

$$
e_{-\frac{\widetilde{p}}{a}}\left(t, t_{0}\right) \leq \exp \left(-\int_{q}^{t} \frac{\widetilde{p}(s)}{a(s)} \Delta s\right)<1
$$

Now we verify the following conditions:

$$
\int_{t_{0}}^{\infty} \frac{e_{-\frac{\tilde{p}}{a}}^{a}\left(s, t_{0}\right)}{a(s)} \Delta^{\alpha} s=\int_{\beta}^{\infty} \frac{e_{-\frac{\tilde{p}}{a}}^{a}(s, \beta)}{a(s)} s^{\alpha-1} \Delta s=\int_{\beta}^{\infty} \frac{e_{-\frac{\tilde{p}}{a}}(s, \beta)}{s} \Delta s>\frac{\beta^{2}}{2\left(\beta^{2}-1\right)} \int_{\beta}^{\infty} \frac{1}{s} \Delta s=\infty
$$

and

$$
\int_{t_{0}}^{\infty} \frac{1}{r(s)} \Delta^{\alpha} s=\int_{t_{0}}^{\infty} \frac{1}{r(s)} s^{\alpha-1} \Delta s=\int_{t_{0}}^{\infty} 1 \Delta s=\infty
$$

Furthermore,

$$
\begin{aligned}
& \int_{t_{0}}^{t}\left[\frac{1}{r(\xi)} \int_{\xi}^{\infty}\left(\frac{e_{-\frac{\widetilde{p}}{a}}^{a}\left(\tau, t_{0}\right)}{a(\tau)} \int_{\tau}^{\infty} \frac{q(s)}{e_{-\frac{\tilde{p}}{a}}\left(\sigma(s), t_{0}\right)} \Delta^{\alpha} s\right) \Delta^{\alpha} \tau\right] \Delta^{\alpha} \xi \\
& =\int_{t_{0}}^{\infty} \xi^{\alpha-1}\left[\frac{1}{r(\xi)} \int_{\xi}^{\infty} \tau^{\alpha-1}\left(\frac{e_{-\frac{\widetilde{p}}{a}}^{a}\left(\tau, t_{0}\right)}{a(\tau)} \int_{\tau}^{\infty} \frac{q(s) s^{\alpha-1}}{e_{-\frac{\tilde{p}}{a}}\left(\sigma(s), t_{0}\right)} \Delta s\right) \Delta \tau\right] \Delta \xi \\
& =\int_{\beta}^{\infty} \xi^{\alpha-1}\left[\frac{1}{r(\xi)} \int_{\xi}^{\infty} \tau^{\alpha-1}\left(\frac{e_{-\frac{\tilde{p}}{a}}^{a}(\tau, \beta)}{a(\tau)} \int_{\tau}^{\infty} \frac{q(s) s^{\alpha-1}}{e_{-\frac{\tilde{p}}{a}}(\sigma(s), \beta)} \Delta s\right) \Delta \tau\right] \Delta \xi \\
& >\frac{\beta^{2}}{2\left(\beta^{2}-1\right)} \int_{\beta}^{\infty}\left[\int_{\xi}^{\infty}\left(\frac{1}{\tau} \int_{\tau}^{\infty} \frac{1}{s^{2}} \Delta s\right) \Delta \tau\right] \Delta \xi>\frac{\beta^{2}}{2\left(\beta^{2}-1\right)} \int_{\beta}^{\infty}\left[\int_{\xi}^{\infty}\left(\frac{1}{\tau} \int_{\tau}^{\infty} \frac{1}{s \sigma(s)} \Delta s\right) \Delta \tau\right] \Delta \xi \\
& =\frac{\beta^{2}}{2\left(\beta^{2}-1\right)} \int_{\beta}^{\infty}\left[\int_{\xi}^{\infty}\left(\frac{1}{\tau}\left[-\frac{1}{s}\right]_{\tau}^{\infty}\right) \Delta \tau\right] \Delta \xi=\frac{\beta^{2}}{2\left(\beta^{2}-1\right)} \int_{\beta}^{\infty}\left[\int_{\xi}^{\infty} \frac{1}{\tau^{2}} \Delta \tau\right] \Delta \xi>\frac{\beta^{2}}{2\left(\beta^{2}-1\right)} \int_{\beta}^{\infty}\left[\int_{\xi}^{\infty} \frac{1}{\tau \sigma(\tau)} \Delta \tau\right] \Delta \xi \\
& =\frac{\beta^{2}}{2\left(\beta^{2}-1\right)} \int_{\beta}^{\infty} \frac{1}{\xi} \Delta \xi=\infty
\end{aligned}
$$

On the other hand, one can see for a sufficiently large $t_{2}$ that

$$
\delta_{1}\left(t, t_{2}\right)=\int_{t_{2}}^{t} \frac{e_{-\frac{\tilde{\tilde{p}}}{a}}^{a}\left(s, t_{0}\right)}{a(s)} \Delta^{\alpha} s=\int_{t_{2}}^{t} \frac{e_{-\frac{\tilde{\mathfrak{r}}}{a}}^{a}\left(s, t_{0}\right)}{a(s)} s^{\alpha-1} \Delta s>\frac{\beta^{2}}{2\left(\beta^{2}-1\right)} \int_{t_{2}}^{t} \frac{1}{s} \Delta s \rightarrow \infty(t \rightarrow \infty)
$$

So there exists $t_{3}>t_{2}$ such that $\delta_{1}\left(t, t_{2}\right)>1$ for $t \in\left[t_{3}, \infty\right)_{q^{z}}$.
To use [15, Theorem 2.2], let $m=1, \phi(t)=t, \varphi(t)=0$ in [15, (2.4)], and one has

$$
\begin{aligned}
& \lim _{t \rightarrow \infty} \sup \frac{1}{\left(t-t_{0}\right)}\left\{\int_{t_{3}}^{t}\left[(t-s) q(s) \frac{\phi(s)}{e_{-\frac{\tilde{p}}{a}}\left(\sigma(s), t_{0}\right)}-\frac{\left(\phi^{(\alpha)}(s)\right)^{2} r(s)}{4 \phi(s) \delta_{1}\left(s, t_{2}\right)}\right] \Delta^{\alpha} s\right\} \\
& =\lim _{t \rightarrow \infty} \sup \frac{1}{\left(t-t_{0}\right)}\left\{\int_{t_{3}}^{t}\left[(t-s) q(s) \frac{\phi(s)}{e_{-\frac{\tilde{p}}{a}}\left(\sigma(s), t_{0}\right)}-\frac{s^{2-2 \alpha}\left(\phi^{\Delta}(s)\right)^{2} r(s)}{4 \phi(s) \delta_{1}\left(s, t_{2}\right)}\right] s^{\alpha-1} \Delta s\right\}
\end{aligned}
$$

$$
>\lim _{t \rightarrow \infty} \sup \frac{1}{\left(t-t_{0}\right)} \int_{t_{3}}^{t}(t-s) \frac{3}{4 s} \Delta s=\lim _{t \rightarrow \infty} \sup \left[\frac{t}{(t-\beta)} \int_{t_{3}}^{t} \frac{3}{4 s} \Delta s-\frac{3\left(t-t_{2}\right)}{4(t-\beta)}\right]=\infty,
$$

which means $[15,(2.4)]$ also holds, and by [15, Theorem 2.2] one can deduce that every solution of Eq. (2.3) is oscillatory or tends to zero.

## 3 Conclusions

In this paper, we have presented some applications for the oscillation criteria for certain fractional differential equations, fractional difference equations and fractional $q$ - difference equations. The validity of the established results are illustrated by three corresponding examples.

## References:

[1] Z. Zheng and F. Meng, On Oscillation Properties for Linear Hamiltonian Systems, Rocky Mount. J. Math., 39 (1) (2009) 343-358.
[2] Y. Huang and F. Meng, Oscillation criteria for forced second-order nonlinear differential equations with damping, J. Comput. Appl. Math., 224 (2009) 339-345.
[3] H. Liu, F. Meng and P. Liu, Oscillation and asymptotic analysis on a new generalized Emden-Fowler equation, Appl. Math. Comput., 219 (5) (2012) 2739-2748.
[4] L. Li, F. Meng and Z. Zheng, Some new oscillation results for linear Hamiltonian systems, Appl. Math. Comput., 208 (2009) 219-224.
[5] Z. Zheng, X. Wang and H. Han, Oscillation Criteria for Forced Second Order Differential Equations with Mixed Nonlinearities, Appl. Math. Lett., 22 (2009) 1096-1101.
[6] L. Liu and Y. Bai, New oscillation criteria for second-order nonlinear neutral delay differential equations, J. Comput. Appl. Math., 231 (2009) 657-663.
[7] F. Meng and Y. Huang, Interval oscillation criteria for a forced second-order nonlinear differential equations with damping, Appl. Math. Comput., 218 (2011) 1857-1861.
[8] J. Shao, Z. Zheng and F. Meng, Oscillation criteria for fractional differential equations with mixed nonlinearities, Adv. Diff. Equ., 2013:323 (2013) 1-9.
[9] H. Liu and F. Meng, Oscillation criteria for second order linear matrix differential systems with damping, J. Comput. Appl. Math., 229 (1) (2009) 222-229.
[10] H. Liu and F. Meng, Interval oscillation criteria for second-order nonlinear forced differential equations involving variable exponent, Adv. Diff. Equ., 2016:291 (2016) 1-14.
[11] Z. Zheng, Oscillation Criteria for Matrix Hamiltonian Systems via Summability Method, Rocky Mount. J. Math., 39 (5) (2009) 1751-1766.
[12] Q. Feng and F. Meng, Oscillation of solutions to nonlinear forced fractional differential equations, Electron. J. Differ. Eq., 2013 (169) (2013) 1-10.
[13] N. Benkhettou, S. Hassani and D. F.M. Torres, A conformable fractional calculus on arbitrary time scales, J. King Saud Univer. Sci., 28 (2016) 93-98.
[14] H. Wang, Q. Feng, Investigation of oscillation on certain dynamic equations, IJRDO-Journal of Mathematics, 5 (7) (2019) 9-13.
[15] H. Wang, Q. Feng, Oscillation criteria for a class of fractional dynamic equations on time scales, IJRDO-Journal of Mathematics, 5 (7) (2019) 14-17.
[16] M. Bohner, Some oscillation criteria for first order delay dynamic equations, Far East J. Appl. Math., 18 (3) (2005) 289-304.

